GUARDABARROS TRASERO YAMAHA R6 06’-13° /S 05°-07°
REAR HUGGER FOR YAMAHA R6 06°-13° /S 05°-07°
REF: 4087

INSTRUCCIONES DE MONTAJE ‘ mg

INSTRUCTIONS TO ASSEMBLE v iy T

1- Desmontar el guardabarros original. Sacar la guia de plastico del latiguillo del freno trasero y montarla en el
guardabarros suministrado.
Dismount the original hugger. Remove the plastic guide of the rear brake line and mount it on the supplied hugger.
2- Colocar los silenblocks suministrados.
Place the well nuts supplied .
3-  Montar el guardabarros usando los tornillos suministrados.
Mount the hugger using the fasteners supplied.
4-  Vigilar periddicamente el apriete de las fijaciones.
Check them periodically, and tighten the fixations.
5-  En caso de que su motocicleta monte otros accesorios, comprobar que no interfieran con el guardabarros.
In case your motorcycle has other accessories, observe that it does not interfere with the rear hugger.

Material sumistrado para el montaje en la motocicleta:
Material supplied to assemble the rear hugger:

DENOMINACION CANTIDAD
Silenblocks Well nuts 3
Tornillos M6X20 DIN1001 c/negro Black M6X20 DIN1001 fasteners 3

GUARDABARROS TRASERO YAMAHA R6 (06-12°)
REAR HUGGER FOR YAMAHA R6 (06-12°)
REF: 4087

INSTRUCCIONES DE MONTAJE ‘ mg

INSTRUCTIONS TO ASSEMBLE Vv sy T

I- Desmontar el guardabarros original. Sacar la guia de plastico del latiguillo del freno trasero y montarla en el
guardabarros suministrado.
Dismount the original hugger. Remove the plastic guide of the rear brake line and mount it on the supplied hugger.
2- Colocar los silenblocks suministrados.
Place the well nuts supplied .
3-  Montar el guardabarros usando los tornillos suministrados.
Mount the hugger using the fasteners supplied.
4-  Vigilar periédicamente el apriete de las fijaciones.
Check them periodically, and tighten the fixations.
5-  En caso de que su motocicleta monte otros accesorios, comprobar que no interfieran con el guardabarros.
In case your motorcycle has other accessories, observe that it does not interfere with the rear hugger.

Material sumistrado para el montaje en la motocicleta:
Material supplied to assemble the rear hugger:

DENOMINACION CANTIDAD
Silenblocks Well nuts 3
Tornillos M6X20 DIN1001 c/negro Black M6X20 DIN1001 fasteners 3




